he purpose of-

jttee was sel UP for t

tion from helow?)
-ce ntralization

ant Ral sehin Comitt
faie Op
democratic de
e village panchayals at

The Balw
oose the most appropr
sures for
king of th
ter efficiency in the imp

(Ch
(A) Suggesting Med
(B) Reporting o0 the wor that nme
|ementation of the community d
Y dev
elopmey,

(C) Sugeesting measures for bet

projects
(D) Inyesting the adeq

uate financial resources of the village panchayat

(E}  Question nol attempled
muﬁ%ﬁﬂ%ﬁﬁﬂﬁﬁm R sartfire 61 Tt o7

»

araae[:tmiz

AR e P 5 g 3 3 T

4

(B) mmwwﬁwﬁﬂ?ﬁﬁﬁqﬁéﬂ#fm
(C) WP mmﬂﬁmmﬂmm#gﬂﬁﬁ#m
(D) T G & mﬁmmﬁmﬁ&ﬂm%ﬁm
(Ey ST w
Which of the following parts is related to the Directi inei
_ § Directive Principles of State Policy i i
e e o ; i icy in Indian Constitution?
g et a1 W e e @ e 87
(B) VI
(C)y IV-A
77
(E] Question not attempted / G T4 :
The words *Socialist and 3
. and Secular’ were added to th
e o the Preumblehof the Indian Constitution by:
O TR '[]H)} 44" amendment
M 41" amendme
nt

(B} Question not attempted

P = “Socialist” (FETSETED) i oS
ecular” (e R
e ER ST

(c .

AW £y (B) 443t dHi

“:.'] "_ﬂf[ﬁ-ﬁ

Chia b (D) 41 FF i
st the mosp appr

opriate v
eported form of the given senten:
ce;

He said, “Dop:
L “Don’t walk op smow, Tuy
- Wsn’| gafe

Ay He s
id 1
(B U5 nat walk on snow for &
. OF It 18 5
afie,




the opliomns:

6 ldentify the grammatically mosf appropriate sentence from

(A) Inaz week's ime 1 will have -:nmp'ls:ted my work.
In a week’s time 1 will be completed my work.
. (Cy Ina week's time 1 willﬁ complete my work.
(D) Ina week's time | willsgpmplete my work.
(E) Question 0ot attemple
7 Choose the most appmpﬁnlztlnmivc form of the word ‘Mistake' 10

The meter reader _ gl fora burglar by the landlady-
h (B) was mistaken

complete the sent

(A) was mistook
j Thas mistaken ™ (D) mistook
(E) Question not atiempied

8 -ﬂé’mimmmﬂkﬂ

19170042 19170042 19170042

) ¥ o ® T
© ¥ o oy~ I
(E) HAE |
g Al e *m'mﬁn‘l‘?ﬁﬂﬁﬁ:ﬂ&mi_
(A) @ — (B) U
(B) 3w 9 o
0 e i 1 e T
(A) TEH (B) FH
i o b T
' - (D) =T
(E) AT ¥A o~
11 Indira Gandhi canal is tuate@in which of the following regions of Rajasthan?
(A) Westem Desert plain Ee lon o AR T
() gouth Enstem Region (D) Semi dry Region
(E) Question nol attemp s o
Sy Ty T i & o & 1 s &7 <p
(C)
\ o) =
® sEAranE E: : Aeih :
12 The moist deciduous forests 4eq not found in which of the followi :
(A Noﬂhcnswrn Srates ) e m:@mﬂfhﬂdia? 3
(C) Peninsular plateat N ) Fuuﬂ:n: opes of the western ghats
(E) Question not nua_:mpmﬂ ills of Himalayss oy
mﬁwim %mmmmwﬂﬁ ¥ <
(ay st o
(€) e e " ;‘;r wfst e 3 et me <
(E) g A o , Termem o firde ™
9| # . . g
i

| PT.0



of Rajasthan?

m
_ he oldest musey
following is known as the B) Albert Hall

Which of the

13
(A) Amrapal (D) A
(C) The Crysul Gallery
e ted
(E) Question not attemp : H 3 <1 Tl &7
S Tl BETE * e
e @ Pl T (B) AT
}hj’ 3.]in {D} m
(E) e s gy e I
14 There i certain relationship between the two terms to the left of i and the same relationship exists between
the two terms {0 its right. Find which option would mplac“huquesfif?“ mﬂr]-t’,‘_\ 3 I a7
::?mm‘faﬁr&nﬁ%mgﬁsm%aﬁtmmmmmmﬁm#ﬁﬁmmiiHﬁmﬁri‘?m
a1 e &1 v wen
324 :289 2 256: 7 -
(A) 200 /\‘W/ 23
{C) 36 (D) 125
(E}  Question not attempted | ST T4
15 E—'_n_u:l the HUInhtrfFMﬂnglEs in the given figure;
e 8 st gl o) s
AT 15
[[? 17 (B) 16
) Q“ﬂi‘mnma (D)
; 13
16 “-_.B.I,C.-_D_ll;ﬂnp‘tdfdriﬂﬁﬁw
of'E*. Avy F are sittin,
e 1 'shﬂwtﬂn'f_' 45 Eﬂfﬂundamund table WO
A, cup, F o 24 °E"is opposite to 1y ' notin cither of the neighbouring seits
A S e LT oo 8 opposite of -
o T 3?[1‘%% 7 ohalt
1 B E D‘%Wi‘at e O tE %mﬁﬁmﬁ
(E) f{:il.mslif.-u:“-,u,l ) c
L
17 Inaruwn!’thildmﬂ G:F[[?M%‘iﬁ ©) A

by three places tnw;ma s fify from 1, S
et and pp

T o N o S Ovelfly

: e from y, from the it
m“ﬂﬂ!ﬂa;?“t 3 e lefy end, Hoy many :h?;ht end . If I’ru-veen Sh:_?
© 26 T a,,mmm?‘rt e !
(E) o t‘ﬁﬁﬁﬁ-ﬁ' ﬁ?lﬁmﬁmﬁ

24 hA



| 18 Choose the mast appropriate statement from the following:
| AX) A notice is distributed to the selected people in an organization.
(B) A D.Oletter is written by an authority to the employees of that organization.
(€)  *Yours respectfully’ is the appropriate subscription for an informal letter.,
(D)  The format of the date in an official letter is 01/04/24,
(E)  Question not attempted
19 Choose the mast appropriate word to complete the given sentence:
The boy crawled the fence to enter the garden.
A&7 out . (B) under
(€)  near (D) above
(E)  Question not attempied
20 Choose the most appropriate word to complete the given sentence:
His ideas on the link between art and culture in Asia do not conform the generally accepted
theories.
(A) into (B) with
= g (D) within
(E}  Question not attempted
21 Choose the maost nppmpriﬂfﬂ Eng[ish word for the giw.'n word:
=2
(A Abatzrmeqt /tB)"" Abolishment
(C)  Apartment (D). ~Abetmect
(E) Question not attempted
22  Choose the word closest in meaning to the underlined word from the given options:
During the course of the interview, she refused Lo answer the question that infringed on her personal life.
(A) ingested (B) Tntusf:d
,[C’}‘f saud (D} ingrained
; (E) Question not attempted e
imilar i t
23  Choosethe most .uppmprfﬂ-! word similnr in meaning u____,__
. __ 37" insurrection
. {A) insubstantial ik
T (D) indifferent
(C) intimidating
(E)  Question not attempted - .
3 oo camlysed by the product formed is calle reaction.
24 The reaction which is catalyse (B) biochemical
{A) autocatalysed (D) reversible
(C) displacement
“ﬂ: (Ey  Question not attempted vl W 8, fiifaar aeem &1
ﬂmm TR R,
e e sl e R (n) ST
(A) FErEECAT T Fmi
(cy e
(B) et wd e
5
Y| #




aldehydes 15:

25 : P E o
ofearge f e FC (FRFCH)
i

}Aj/'—'(lrfﬂ
0

I :
cy —C—OH!

ent in
55 The functional group presen

a0
(E) Question not attemipted / E LRl Sl’;i.
26 The JUPAC name of the given compound is:
CH; —EH — CHEICLH.3
CH,4 <

o
(A) I-Methylbutane 'Z

J,Gr‘" 3-Methylbutane =
(E) Question not anqmplcd

CH; — CH— CH O fisd e AT 1 IUPAC
CHy v

(A) 1-Prargersges

(C) 3P T

(E) @

R Y o
5 R%'m!. mv'ﬂ.ueﬁ'? ddedTFax Act was passed in which year? -
:rﬂu »E: m':_ﬁh ™ ﬁﬂ?&ziﬂmﬁ‘aaﬁmyﬂ, O
4 £ i -
& b 4 BT 2007 '-
; .) : dl (D) 2003 "
(E)  Question not attefipted / S v F (%)
28 Where is Dhirubhai Ambani Solar P e
{A) Dhursar rk located?
(C) Kavai N (B}  Suratgarh "
(E) Question not “‘nﬁgpled (D) Kot N
cf‘muéa#m’mhma’a%q{ﬁuﬂﬂ "_{‘I
? C
o . ®) =
— ™
(B) smafass o D) =y : i
29 Which of the following-is the firg g i)
(Choose the most appropriate OPlion from bﬂh"’“d Thermal Power Plant in
(A)  Kota Thermal Pawer Plant )
(C) Kalisindh Therran Power Plag, (B)  Suratgar Power Rlant
(E)  Question not attempted (D)  Chhabra power Pt
Fresferfia & & i 1 O 71 T o
(1 5 & wrarst argen fores <7) ™ T Wi gy, O
=

(C)  Frefferg ara fada
(E) STpFIfee b

TI9) #

(B) F—tl? ——
0
(py —OH

(B) Pentane
(D) 2-Methylbutane

:ﬂq'_b"
(B) =
(D) 2-fumesmr

=

(B) St fore e 1ol
(D) ey frege i ?_‘;

6
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30

31

32

33

34

Which site of copper culture was discovered at the source of river Kantali at Neem Ka Thana?

(A) Bagor (B) Ganeshwar

(€) " Ahat (D) Gilund

(E) Question not attempted

<fisy <1 ST 3 ATt i 3 e AT HEHt 1 EH AT e @i

(A) @miR B T

(C) oTes (D) fres

(E) idf@wa

Which of the following kings of Kamboj has created four scriptures of total 326 Paragraphs?

(A) Yashovarman (B) Rajvarman

(C) Jayvarman (D) Bahuvarman

(E) Question not attempted

Farerfrfiara i & st oh fohe T A et 326 STl 6 ST T Sl T T

(A) TS By TS

(C) SEEA (D) wEand

(E) 3w 9

Which temple is called ‘Mini Khajuraho® of Rajasthan?

(A) Temple of Kiradu (B) Rani Bhatiyani Temple

(C) Shree Nakodaji Temple (D) Ramgarh Bhand Devra Temple

(E) Question not attempted

TrrEaT & T @sEr fper Tfet 1 et AT 87
o g R (B) Tl e it

(C) off TR S Hi-at (D) TTg ¥ A =T

(E) ST :

How many true breeding pea plant varieties were used by Gregor Mendel for his experiment on artificial/

cross pollination?

Whﬁimﬁgﬁﬂmww%mm%mﬁﬁm@wﬁﬁmﬁ
AT ®) 14

© 10 (D) 8

(E) Question not attempted / I W

Select the camel breed known {o have excellent swimming capacity in seawater.
(A) Jalori (B) Kharai

(C) Mewari (D) Malvi

(E) Question not attempted
ﬁﬁiﬁmmﬂgﬁqﬁlﬁﬂgﬁwﬁ&ﬁ#mm AR

(A) el @y @i
() et (D) W
() SFare w4

| p.T.O.
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26

e, Tl

27

dFmAR

©

(E)

28 Whe
(A)
(©)
(E)

(A)

(E)
29  Which
(Choos
(A) ¥
(C) Kk
(E) ¢
Fre=fate
ez
AT A
€) =
(E) Eg

TI9] 4

re weakness an jet? -
1 jcine an
onishe Ving w“‘}; prov h edicl ® Vitamin
3 would be SUPP Vitamin A
ﬂwmms ! (D] -
()T ~ P
Saay 4 e 121 FATat &l Ay
(C} yitant ted T v ﬂﬂ wJ i
5 Quesionnot R P ot £ 30 1
e '
Ja T R @ fEfEE G
S oTERA TRy FrfE T
Mﬁzﬁ‘“ﬂ M 2 A
& g
© FgerfE ; 6 September 20247
than as on p i :
(®) 3@%9% e Advocate General of Rajas o prasad Gupta &
46 Whoamong the PO (BRI <
(o) Jai Singh Sharmt @) Jitender G2 O
Meend O
() Bhupendra MEEC 4
() Questionro! “‘@Zt::ﬁﬁm (6 e 202470 1 &1 o
ﬁmﬁﬁﬁﬁﬁmﬁﬁ @y LEC S UIEHULEN u

© EEH i
€ IO ol

il twug‘létcmcntst > - B I
LA ¢ panchayati Raj system, is Zila Parishadof District council. Zi

Statement (1) The highest unit © : ¥ e
upervisi i i thé-plans and proj¢
is a iﬂ:emsmg authority regarding the execution of h C‘j

(D) etz THT ™

development and progress ™~ o
statement (IT): The ija Parishad (District council) is organized by the dlre_lit‘p:leclc me 1
readih MLA's, MP'S from Zila Parishad. o

v ; jons ghent”
In the light of the above statements, choose the most appropriate answer fglt‘ the options&
(A) Both Statement ?l) and Statement (II) are incorrect.

(B) Statement (I) i gorrect but Statement (IT) is incorrect. '.':\I‘

(C) Statement () is incorrect but Statement (IT) is correct. = El;)

(D) Both Statemenit{T) and Statement (IT) are correct. -

(E) Question not aﬁ%mpted > o
At 2 e fa e iﬁ v

J
T - (1) T T AT Y T g e i A fefgae FeEd, m%lwmmﬂ“

Tt < i S st e & o ST & e
Wqﬂ[}:ﬁmmmmﬁw m{’d’r‘
M Gy wm%mﬁaﬁq_ﬁfﬂ‘

Tt o
(A) () S 1yt v iR A Iagw s un‘“"i' Tis}

A
(©) 7 ()T g ) e (Ea st
® sfems O ThRpEhs (D) wmaﬂuﬁﬂﬂl}ﬁ

9| # v o
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i i

il Parishad

of the rurl
rom regionil

n below:

(Bl

ange the names of Governors
L At }hh“ R l:::;mur s OF Riojasthon in the chronological order
. [, Sampumanand :: Shri Sukh Dev Prgage
At o T =lTﬂl"T‘i',1 rr.ruﬁci:r.h;.r. W f;r,ﬁ;,ild o Dk M SRR Rfddy
ol e frer \ oo e
R T LI R
. d, o, um, g g
"1‘_‘“"“' the most "J'.’s"lr"P"-‘""l' unswer from the options given below:
4yt fao e Fresedi g ?m’rﬁ.rmm-m o
(A) biead By ¢ bda
€y &m b, d \ M S hred .
(£) Question not utlmn‘,\:ml / '}{&!Fﬂr(] a4
W Red |.1'|l_:-.sa.l cells of which-gf the following blood groups containg both A and'B antigens?
f it A1 e e e eTrer T Ay A war B AR st (S rm‘.[ 5 87
(A) B - /m,/ AB
< © ' (D) A
(E)  Question not attempled / 31l wa :
40 A person with blood mtibody I3 can recieve blood from the blood group of:
(A) BorOonly (3) AorBorABor & only
(Cy Oonly ) (D)  AorOonly
(B} Question not attempted '
o, st Foredk oo B iferefi &, Ft Ffire e 2 WA W 7 :
(A) FEEABAO e @) e AFB AMABAO
(€) FaAO ; py” FASATO "
(E) Staic W
41  Which one of the following is the State tree of Rajasthan? &
(A) Khejri i (B) Rohida
(C) Sanl II. (D)., Deodac :r
(E) Question nol z:llcqupt*-‘d [
ﬁn{ka&maﬁmmﬁﬂmwﬂ? i
Ay ) (B) Tifesr
©) ® r (D) 94K r-{
(E) FF@ATT o Al
42 Spirulinais o good souregol- -
(A} Viomin C ~ (B) C_'urlm'l'tydrutc .
: " (D) Fat '
(C) Protein - h
(E) Question not illw';"la“""] v
wmzﬁmarﬂﬂ.mﬂﬁ- 1: B S o
(A) Frll'ﬂlﬁq(.m[ v D) T -
A W
(B) arafo 54
T19) # 4 | PT.O.




48

49

h
=]

h
il

A solid right circular cylinder has height 17 cm and its radius is 8 cm. The cylinder is cut in three ec
(by "ii uts parallel to base). What is the percentage increase in total surface area?

U 316 R I oIetT oht s 17 Avft ud Prsar 8 Bt 21 36 afei a1 oft st 1t (6o Se ¥
<) H 1T 11| et T Qe & i it wferara 7 27

(A) 68% (B) 79%

(C) 64% (D) 50%

(E)  Question not attempted / Jﬂ?ff'?i a4

Where is the Institutesof Development Studies situated?

(A) Bhilwara

(B) Jaipur
(C) Mount Abu

(D) Udaipur
(E) Question not attempted

ferermer sTeram e el o fRua 27

(A) icarer B S
(C) WIS AT (D) ZEA9L

(E) dﬂ?fm M

Where is the Centraldnstitute of Arid Horticulture located?

(A) Jalore (B) Bikaner
(C) Shriganganagar (D) Chittorgarh
(E)  Question not attempted

AT Y AT SEAH wat ot e 22

1 a5y
(A) SR _\
1C; ST (D) e

(E) . 3 b £ Fashion TLILJ'IIIUI("!:)' situated in Ril[ﬂh”'l-'l.ﬂ'.,
. of Fash BY -
Where is National Institute ®) Jaipur
2) Udaipur (D) Jodhpur
(C) Kota

: i t attempted
([) Qucqhon no i et P

ATy AR
®) RN (D) S
(C) =hiel

(E) mﬁ'aw

Y i 1 Tir +)
- ~idence 15° on a plane mirror (ngshown in figure
- ncidene i i
A ray of I.u_.hl is ml.ldcnt at an angle of 1

|q{ Tl =hl 9 A TR - T M X W
| Ir‘."”]'[ll-

The v 4 is I : ”I ; i

m%l Uﬁww 71511 qa rﬁ ﬂ[‘]‘d:[ Eﬁ:l][q'[ f —f' f# ‘ f a(

I AT~ |
Nnrm.ll

|
59|

I -
. 75
1 e /ﬂ( 15 " L
(m - "
(A) 65° ™
{ 859 e W
ll-: Question not attempted / #3 i
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s than the number

ive stage is 15

1 the stafus of popu

g
e stage: (B) peclining

E_,,;p;mding

gelec!
in rgpr(\l.mc[i\-
(A) Stable R ! ) ‘
() Stages not affectiné G - e AT geei 4 FH A
(E) Question not attempted ! l{rfg:a'-ﬂ el Tl

m@Tﬁw’r‘wﬁﬂWE‘"ﬁ”“ @) TEIH

(E) St oA ; f “Ecology” in India? :
54 Whois considti’l‘q s the fathe 0 S (B) Panchanan Maheshwarl
(A) Ranjdcln Misra D) C.V. Raman
(C) Lalji Singh
(E) Question not attempted
frefeiaa 3 & WA et
_{pw” e e
(C) TS e (D)
(E) HHHa ¥
Which among the following is produced by a fungus?
(A) Butyric acid (B) Acetic acid
(C) Lactic acid (D) Citric acid
(E) Question not attempted
v 2 & 1 U e B 1T Bl 87
el e ®) e
(C) ifdesh 1=t ) i s
(E) Safawyd

Read the passage carefully and answ i
g er questions that fo i
S llow by choosing the correct option:

While working in the establish i
Aer 2 ishments of Space Defense Research and Atorni o
st b A B tomic Energy, Dr. Kalam foundt

als ; kY ere . o
:If found in all the scientists and technologists: E.‘fé’ W present here, in plenty. One common featur® we
anures 1 Athi Sa ) ere ai . ———— T :
e\'e:ll::a ;:Iumaazl within themselves the seeds for fﬁ;ﬁ#glﬂ&dﬂifm uring their pursui'(s becaut

y to high level of success, Th rleamning, which could lead to be '
. The , ould | logy &
: nts. Taking ﬂcc:;eui;lehwe"c great dreamers and thejr ;:::1: b;“e;tc(:hf;i“ied in
institutions, it w : of { . S finally cu i
utions, 1t would certainly be com ¢ combined technological £ . cientil®
Regarding personal freedom, Kal Parable 1o the best found | th dg al strength of all these S¢i°
" ; s ﬂalnisSa‘d 1n the evel
one 1d L ope
m‘i;::: ll::u-::anon and skills — i Ta:': adopted two Do gid.
' y 106 5 the mogy :
Preciou 5 g
1y be free 1o Jeaq ; 100l; the more up-to-date knowledg® s
10 engage in conginy: '8 team, if he keeps abreast of all tha!
Y Ofaking o ntinuing education, The second ways is t© dg\-clf‘i’
B Your fate \ rcspﬁnSIbili!y 10 work for the things you bel'e\-fln'
for mosy O Others, Historian Eg; S tuns anci.fnl
freedom, We can h is th ph frc(!dom from dith Hamilton wro'€ ® b
>, combat the f; At there responsibili ns ceas®
and conditions tha o orees that thregyen - IS 8 great dea iy ty, then Athe ooV

omote indjyi 0 most of do to iner
T widual f; . OPpresg of us can do i
19] # reedom, us. We can fomfy ourselves with the q\]ﬂll

-%mﬂawﬁﬁﬂmm%‘?
(B) e FeEd
A, T

Ln
uh

. adind
techniques to strengthen it. First, by puild’™
o

bapper Tolead is in 4
d pass 5 :
Irpyo u.c:jr:) I'c:; :!-crbunnl responsibility, byﬂ::;
rkivse + YOU would be surrenderin
3 am,j w en the freedom they wished
48 never free agaip, The truy

12 ’
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8

s neither an orthodox nor a conservative religionist. He has a scientific temper blended wi
“While science has a habit of

. Kalam | : e
[.};:irilunlilﬁf- Drawing an analogy between science and spirituality he says,

questioning. spirituality is based on known principles; both of them lf:ad one to seckl truth.” He 1sdan :nd;v]d_l.lal
filled with pumanism and loved and renowned by the entire pation, wsth‘out any barriers of age an communn;.;i
windia must stand up to the world because 1 believe that unless India stands up 10 11‘14: v_vo‘rld. no ‘m? wi
respect us. Only strength respects strength.” So said Dr. Abdul Kalam, the nucleanf sc!cm:st who.deuc oped
and structured India’s missile arsenal. He belongs to the world of nuclear weaponisation and has supported
the nuclearisation of India consistently.

According to Dr, Kalam, the element that was cumw the scientists and technologists was:
(A) They had spectacular achievements ) They were not afraid of failure
(C) They were great dreamers (D) They were best in the world

(E) Question not attempted
According to Dr. Kalam, personal freedom can be achieved only when

o, You empower yourself with knowledge

b.  You free yourself from all responsibility

c. You develop a passion for personal responsibility.

d. You develop courage 1o be responsible for the work you believe in
Choose the most appropriate answer from the options given below:

(A) b, canddonly (B) b,dandaonly
JOr”" n,cand d only (D) a,bandc only

(B) Question not attempted
Dr, K/njium supported nuclearisaion of India as he strongly believed that:
/[,M"' Unless India stands up to the world, no one will respect us
(B) Knowledge is the most precious tool
(C) There in a great deal that most of us can do to increase our freedom
(D) We can combat the forces that threaten to oppress us
(BY  Question not attempted
Dr. Kalam draws an analogy between science and spirituality according to which
i Sclence | based on questioning whereas spirituality is based on established principles
b, Both are arrived at by not questioning
¢ Both lead one to seek truth
d. Both are habits
Choose the most appropriate snswer from the options given below:
(A) nd ¢ only (B) candd only

o and ¢ only (D) aandbonly
(B)  Question not attempted

60  Mateh Lint<l with List-11

List=1 List-11

n, Conservalive L Using new ideas

b. Arsenal I.  To feel stronger

¢ Innovative IlI, A collection of weapons

d, Fortify IV. Opposed to sudden social change
Choogs the most approprlate answer from the options given below:
Ja't‘))‘n-w.b-lll.col,d-ll (B) a-ILb-1V,c-11Ld-1
(€ a«lbeIV,e-1,d-I0 (D) a-ML,b-T,c-Ld-TV

(B)  Question not attempted
| P-T-O-
T # 13
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3 ‘ane -t for irrigation?
benefitted by Gurgaon € anal Project for irmg

which of the following regions of Rajasthan 18 !
(B) Kola

(D) Bharatpur

(A) JmptE
(C) Jodhpur
: uestion not attem ted ; ! oita
ﬁ;mgaﬁq%ﬁmﬁﬁgﬂﬂﬂﬁ@ﬂﬁﬂﬁﬂWﬁﬁﬂaﬁﬁﬁ?ﬂﬂmﬁmﬁw
(A) A (B) e
(©) U (py” T
() 3Fmie ¥
What is ‘DIGGI construction?
(A) A technique of Hand Loom
(B) Operation for restoring surplus water for field crops and :tgricuitur;ﬂ activities in canal command area
(C) Construction of pipeline for irrigation
(D)  Anew agriculture method
(E) Question not attempted
Fenfr Frmiot e 27
(A) T 6 G A
AB TR 3 vt st e 26 e st <1t T X T AT
(©) framk fore argem 1 Fio
(D) e U 78 i
(E) aita 94

Which i5 the oldest Public Sec 1
8 ublic Sector '.II'IL]LE"I'.IL\'I“E of R'.Ii&l!ﬁll]&lu.: ‘(tll S
L \ i 1005€ Ihl.,‘ maost r.‘ppraprfal(' Upli(‘“ rro a

R'd".l‘».flhﬂﬂ Stite Gangg far Supa
ganagd gar ills Limi 1
I _ ir Sugar Mills l_ll'llllL'L

Rajasthan Drugs and Pharmaceuticals Ltd
dis L,

(C) Rajasthan Electronics and Instruments [
(D) Hinduslan Salts Lid, S
(E)

Question not attempled
TR FTHER [HT W o

w o ; i m E ‘ -
4%qﬂaﬂaﬁ3mi‘a?nw¥ﬁ-} b

¥ RS T IR firew fafie
(C) =T Sl ey i

- A ; (B) TS gt Wit fafire
i'l'h] St T fefiie (D) %awm@%ﬁzg :
he first satg)li N |
1e first satellite launched by India iny v
(A)  Aryabhan e
AL -
(C) II{S.—I
: ) (B)  Chandra
) Quektion noy atte .
oy ; attempted & TRALY
RRT SR S oy ey
(X7 srrivg s
(C) = =m
TH (RS RERIE
Rl (IRS)- 1A 2 .
) Sl uy -
(D) %
¥THE (INSAT)- | o
14

[ p.T.0:




65

66

67

68

69

stance
el o P 5 s e talie cm. This di
45t distance of distinct vision (or the near point) for normal eye is taken as 25

The le t 25 ¢m from the €y&, the

increases to 30 ¢m for an elderly person. If the person tries to read a book at abou
image appears blurred. This defect of the vision of eye is called:

) Hypermetropia or farsightedness (B) Myopia or nearsightedness
(C) Astigmatism (D) Presbyopia

(E) Question not attempted

s @I 3 o (o7 e 231 it =pan 5 (an feke fig) 25 et oft STt 21 Uk g =Aieh % foe 78 gl 9@ 50
Hﬁﬁﬂﬁﬁﬁ%lﬂﬁmﬁbﬁﬁﬁ?ﬂﬁwwlﬂmmtHrufafﬁi“ﬂajJ‘cl?‘ﬁﬂ?ﬁﬂ%ﬁT%l';ﬁa':?
¢ 32 2T FHEa 8:

(A) ETETCHSITAT AT ZTEfE (B) Wit a7 e gfe e
(C) ufemifesn a1 sAfegar B ga T 41 sier
(E) i 94

Who introduced the final draft of the Constitution?

(A) N Gopalpswamy Ayyangar (B) Dr. BR. Ambedkar

(C) Alladi Krishnaswamy Ayyar (D) Dr. K.M. Munshi

(E) Question not attempted

Hifaam i sifaw w9wE (@) fomms g 4w o

(A) TH MUTeRETH ST By &1, . 3, e
(C) et Fom=THT SR (D) =T %. . Hyft

(BE) 3rgmfEawy

Which Fundamental Right was deleted from the list by the 44™ Amendment Act. 19782
(A) Right to property (B) Right to freedom

(C) Cultural and educational rights (D) Right against exploitation
(E) Question not attempted

44 T e HaEEE, 1978 % il ﬁwﬁlfaﬁﬂuanawﬁﬁ?mﬁ:waﬂqzﬁu

2T fear a2
AT Ef T AR (B)  TaesT 7 Stfirsn
(C) witpfaar iR Srefor safeerr (D) 39T & s svfrem
(E)  3qwiica war

gt =2 1 wfu - fa= fs
(A) G+3FfF A+

g +3fm
C) gwm+3 (D) H+3fw
(E)  orqfta 54

‘et f gy 8-

(A) e ABT @x

(C) =Fduma (D) 3=rfive
(E) i 94

(L W'ﬁm?{-
) AcqE (B) 3z

(C) = (D) =w:hfy
(E)  spqmfa ua

T19 | # 15

| P-T.O.




R N
7 et ¥ AR S0 ® v 9
M (D) W g
() - r..
) e : th
i  do a piece of work in 45 days and 40 days respegtipely. They began to work together but A
72 AangD ol : i +19) days.
luavt;.sqﬁcr ‘m’ days and B finished the rest of the work in (m r"‘l) :
f mis:
The e © (B) 5 days
(A) &3 days Tan'l
(C) 17 days (D) aﬁ
(E) uestion not attempted ) e
A B &mmﬁm:dsﬁﬁaﬁunﬁﬁﬁqpmm% &1 g F14 & Al A, ‘'m’ BT E
12 5 o1 Fa & 3 B v ¥ (m +14) Rl 3 g o 2 &, @ B R
(A) E, fom B) 5y
(E) efFfa s ™
73 One wéming just after sunrise, Ankit was standing facing a pole. The shadow of the pole vwas formed on the
left side of Ankit. Which direction was Ankit facing? ™N
(A) CWest (B) Noi p
(©) ﬁou‘h (D) Eastey
(E) E?ucstinn not attempted [~
SR e S T o it o i e e g o e v o 35 A e et oy i
e g i e = w7 o
(A) Chfem 4
(C) “fim /rgli/ :21
(E) srafmys N 79
4 IS5 February, 2018 was Thursday ; <
(A) g'i-day Y, what was the day on Igll]@Pril 2019 2
(C) ¢Sunday (B)  Satufday
i:%) [ ®uestion not attempted 42 ThmEﬁ"Y
15 %=t 2018 33 TRAR 7. 7y
(A) S mmmwﬁﬁw-m&:mg:
®) wfEw
(E) egatans D) TRy
75 Whidihlace of Sikar is famgyg fi ; «
(A) Qipm“ Or gota mdusuy? () 80
© dela (B o
. i ) Nec
(E) pQuestion noy attempteq D) gy P
T 1% ey i 5 g~ |
(A) vl o oz 8, )]
wie ™~ |
® g ® o £
(D
T19 | # ) gz

(]
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79

80

Choose the most appropriate English translation of the given sentence
i I=
erferat FerTeT 3T Rl

(A) Faultscan't be easily found

(C) It's very easy to find faults
(E) Question not attempted

\ sum of money amounts to 7 6,6

Find the sum.

T G TR S & o1 3t F a2 7 6,600 v 6

,V:n/z 4,460

(C) 5,000

(E)  Question not attempted / 3wt w4
The price of a gold-bisculit is directly proportional to the square of ils wej

gold-biscuit in the ratio 0f 3: 2 : 1 in terms ofits weight and faced a loss of T 4.840, Find the initi

gold-biscuit,

Hﬁ#vﬁrﬁ@_?ﬁrfﬁqﬁm%w?ariiw

(A) T7.200

(C)y T 8,000

(E)  Question not attempted / ﬂT_F‘IFT-{ =

The percentage profit earned by selling an article fo
same article for ¥ 1,280;%At what price should the article
ﬁr.sfmﬁa‘r? 1,920 5 3=+ vt 3ifsker sme 1wt a1
Ft form i v 3= sme i 30% sy O B W

(A) ¥ 1,900

(C) T3,500

(E)  Question not attempted / ST T4

Meja dam has been built 8n which of the following rivers of Raj

(A) Kothari
(C)  Mahi

(E)  Question not attempted

Frefeafian 7 & trarears o, fae 7t 0 AT AT 277 Ty

(C) =

(E) ﬂg‘ﬂ'ﬁﬁﬂﬂ

TI')] #

It has been easy to find faults

/(.JJ‘I/ It's easy to find faults

90 after 3 years and to ¥ 10,035 after 6 years on compound interest.

1 & YA T 10,035 1 11 2, A e 7 772 37 )

ht. A person broke down the

mn}aﬁimdﬁr?ﬁ@aﬁw.::ﬁamﬁ#ﬁm
?:ﬂwrrmrﬁfar.aﬁz4,ul;£1mﬁﬁ=ﬁﬁ|éﬁ#fmp:ﬁmnﬁmaﬁwm#;

4 g2 . - h i
r3 1,920 is equal 1o the percentage loss by selling

ake a profit of 30%9

RELL f-lhﬂi'??efm‘r?ﬁqmﬁrmwmmmm
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Select the mos! incorreet * i
[ sps MOTre galimty:

aboul desert goil.

v and karonda are a,;m-.,qidcrcd excellent for the hnpmvcmcnt of desert soil.

1 i found 10 castern Rajasthan.

goil 18 di-_iplucud by wind.

(E) Question not anempted »
S R AR
(A) ™ ﬁﬂﬁﬁm e a"ﬁﬁ?ﬁ?' N
®) ° g A R e Jﬁmiﬁwﬂwmwg‘
;@f‘nmmﬁmqaqﬁrﬁmmqﬁqﬁﬁawﬁax
(D) e i 3 T v Gl
(F) S %A
g2 In Raj,maih:m_Ta\c‘n‘nuppcr wildlife sanctuary issituated al __——
(A) Churu (B) girohi
(C) Jaipur (D) Bundi
(E) Questionnot attempted
T B R R S  difem®
T (B)
() 9N (D) ?fﬁ

(E) aq'-_gﬁ??duu

83 Choose the A
¢ the most appropriate one-word substitution of the given sentence:

A portable case ]
se for holding papers, drawings, documents elc

(A) portiolio J(B“/‘
] wardrobe

(C) Dbricfcase )
(E) Question not atiempted I
Choose the most
st a, i
ppropriate word which is opposite i
: site in meaning
g to the

Disparage .
given word:

(A} _Detraction

)U/ Applaud
pplaY (B) Comfort

(E) Questio
stion not atte
attempted (D) Derogatory

Which of the fi
: following is th
(A) Minimum 1 Che ARG SERTrriale
iaracter, Maximum 3 e for the name of Excel sh
| Chara ixcel sheet?
aracier

(B)  Minim
: um 2 Charac
(Cy Minimum 2'1‘%1.1:,1‘_[“.““““\1“‘ 19 C
Character, Maxim ‘ (-'-lachl_
um 27 Cy
A

(D) Min
I .
wm | Characte ’ ar
Ty Mi\!.n“um 2 aracier
21C

(E) Questio
i & ; ;1:: ull!.:l‘nhpl,ud haracter

(A) =7 | Ehﬂ ‘:T“Wm#m%
T w2 » ST 3 7o} T, wrary

® 3 A, sl 9w &2

Y bR AL
=pan 2 =i, stfreran
: 19 i

Tid) # (D)
e | oot foreram 2 ad




move from One slide to the next during on-screen

1 a special effect is called that occur when you

entation? (Choogeghe most appropriate option from below)
Effect - (B) Custom Animation (:;
Present Animation () Slide Transition -
| Question not ﬂlmpted o
s refn % A ﬁgﬂmtmﬁmﬁaﬁmﬁmﬁwﬁﬁ?h
e 1t 41 ) r-4
\) TR =4 (B) e o
o) ke oy Tz 2
gy SRt WA
e is the : cut key that hides the selected columns in Excel. 9|
 widmwe mﬁwﬁmﬁmﬁwm «
At+H O ®) F2 ©
(€ Cul+0 (Zerd)™ (D) Shift +F10 ?
(Fy  Question not Kttbmpted / WA EH
statement is NOT true about the different types of MS Word Alignments?
-

Which of the follow

(A) Center Alignmen gh will be aligned to the center

{ All the lines of the paragra
h will be aligned including on the right

By Right Alignmgpi- All the lines of the paragrap
() Justify- The nw {eft side of the paragraph will be aligned including the last line. &
(Dy Left Mignmc@bﬂ.ll the lines of the paragraph will be aligned on the left b
(E) Question not qpmpted <
mﬁﬁmmmﬁﬂw%@mﬂwﬁh#aﬁﬁmzﬁ%- =
(A) HH (O oy el el oA e o et B E_:
@) e £y el e 2 i Ll R
[y itz sryedn afteft 7P wdﬁmzﬁfﬁﬁrﬁ s ufm i afifea @ e
(D) wmmﬁmmm iy dfemerg BT
(B) wrpufer s N ; ~
#  Who imposed cm@n '~ on the farmers of Bijolia in 19037 p
(A) Jogirdar Prith (B) Sadhu Sitaram Das =
() Maoharana FuESingh (D) Rao Krishna Singh o
() Question not gitgmpted ™~
Wﬂﬂ.imhﬁqu;aaﬁaﬁtfwﬁwwm i
Dy e qud 4 (@) an T o
(€ T g fe oy T g f .
. ‘\tul\ st N
0 Wi . - 8l o .o
A x;;‘:r‘zrgf?emor otj RaJasLhun'? (Choose ﬂ;; mossriaj?propriate nph‘on frorm beleiv:)
B Bw Man Singh ) Shri Gumr_nuk_h Nihal Singh €3
® oul m ur Singh (D) Shri Kalraj Mishra @
mfcs\mn not memd . ™~
(A) ;ﬁgﬂmmﬁ”ﬁﬂﬁﬁmmﬁmﬁd g
© ﬁhmg:m Sy e fer e vt
® sefews (D) it e A
[ PT.O-

[o-

Ty
' #




iy faf@ﬁﬁﬁﬁgmquﬁ%-

b. =R
a.  EEU g S
(i ST .
e. LIS -
3 forw e Pl | € WA 397 3 @ Fewcaltd
(A) mlﬂmf M aaf‘ﬂ'c
(C) Faaib,cHd el
PR a2
i B 37 A 36 AT o [T U 1eG W e
jg S (D) G
(E) 3FHia oA ol y
93  Which country will host the FIFA Women's World Cup in 20277
(A) Brazil (B) Australia
(Cy South Africa (D) India

(E) Question not attempted
o sk fa =, 2027 1 ASEE FH ST F

(A) T

(B) SEfomn
Gy =T snhE (D) W4
(B) IFERawx
94 ﬁﬂ%ﬁ?‘lﬁ?ﬁi{a‘f@am?_ 10
k;-‘g ST R qrerd) st R By~ 3ueh SATEl 0 Ed R
) B e R ;
: W1 E T B (D) HIH AT ST 2l
(E) et wa
95 o _ﬁrm%aqﬁw&mwaﬁhw_
-.-m?ﬁ@.@maq,
(A) & g v oy 3y
() “‘E“‘Wﬁr:én\‘maq;w (B) U Fedree dicit g=s1
(E)  nfaun = Dy~ R U A ey
96 ‘L‘Ulllﬂuﬂm‘n L 3 ) "
Ty’ = ) oy form <
AT s T 5 3 By
(©) W=t
i ®) i
(E) AT wy
9 P (D) oo
P R T2 2 v
R’ T 2 8- |02
¢ '-ﬂ?h'-{m
€ Ffay b we=
4 fay M Firrs d
(A) -471',*L"v_qq“'ﬂf‘ﬁﬁ_{rp{mm'_n i
(© 4}1.1..;{_7:“ L -
LbWw o
(B)  somtog gy AT 3
L CTT: - (:?#Wh.dsﬁtc
) %-F?Tﬂu.h\'&ﬁtd

2




o T st a1 e 37 -
Ly e o T
() FIORETLAS]
(E) a-]'iﬂﬁfﬂ‘:l’ﬂ

99 Which City Was the venue for the

(A)
(C)

217 2 e ¥ i ST (AYUSH)

Mumbai, India
New Delhi, India

(E) Question not attempted

international

(B) W{iﬂ-’”
(D) ﬂﬁqﬁ'ﬂﬂﬂwm

AYUSH Conference and Exhibition 20247

(B) Dubai, UAE
(D) London, UK

w7 WETHT 2024 8% 41?7

®) FALLE
(D) e, g

(B) Kota
(D) Nagaur

(B) HIETH
(D) ATmH

Thalassemia patients are able to manufacture normal haemoglobin

Thalassemia is caused due to defect in RBC producing genes.

Thalassemia patient q Ires | SlUSIC order g
3 requires {requent lood transfusiol 1
P N in ]d to survive

Thalassemia gene is present on Y chromosome.

(A) Taé W
4L3T/ it =i, W
() Wi w4
100 Dadu Dayal wasbomat
(A) Bikaner
(C) Ahmedabad
(E) Question not attempted
(A) HFEH
Sy sewaEE §
(E) aﬁrfﬁ:a e
101 The most appropriate statement about thalassemia is:
(A)
(B)
1C)
(18]
(E)

(A)

Question not attempted

et & s wed 3vae w4 w1 = R

By S H (RBC) 3o 70t ATt i 0 312 B9 3 shror Aeveitferar ay sy &
(©) wmﬁaﬁamﬁmwmaﬁnwﬁﬁ S
\l?: ﬂmﬁqmsi‘nyﬂvrﬁammﬁuﬁﬁrm%! |

S vy

(B 5

) Y-Ch rOmosomes
(D) Autosomes
(B)

1 q
~ The genes associ;
5 Benes associated with colour blindness are located 0|
LY e chr:nluu.\;ulllcs .
(8} Mitochondrial DNA
{E | :
. .1_ Question not aie mpled
T 3 i I o e w1 @
(A) x. LS = | G
RIS Eug
E)  pqmfr u BN

2]

(D) Yﬁm T

[ PT.O.




103 Inthe following reactions -

i AR A -

i) Na+3Hp ——2 N3
(1) 2580, 403 ——250;

N
s - =1
Which reactions Oceur in presence of catalyst’
el AT 3P )t et &

(A) (i) and/T (iv) B () and 7T (i)
(©) (i), (i) and/am (i) (D) (i) and/a9T (i)
(E) Question notatempted / H?Jﬂﬁﬁﬁ%l

104 Cll;[‘ll:(}” 2 Alkaline KMnO, + Heal )CH;_COOH

In the above reaction alkaline KMnOg4actsasa
(A) oxidising agenj

(B) Catalyst

(C) dehydrating agent (D) reducing agent
(E) Question notidgttempted

wfi KMnOy4 + == :
CH;CH,O0H ————4 > CH;COOH
ST AT & KMnO, = B Y 14 F4aT 2
(A)  SEdED T
€y e T (D) 2
(E) ﬂiﬁ'ﬁ'ﬁ‘lﬂ e

ST FHFH
105  Which of the

followitlg pair will give displacement reaction?
(A)  AgNO; solufioh and copper me : :
i e By cnppz[::;z:l{al (B) CuSOy solution and silver metal
(E) Question nmlauumpwd © Fe504 solution i pper cta!
X w a g J - :
Pt 3 & ey eyt e sy ~
(A)  AgNO, ferd s : it ;
AgNO; T i AT () -
(C) NaClfs + I > - i
NaC1 forerar aﬂxm(mm@ (B) CuSO, faemm sii =it (Ryeam) w1q
(E) s/ wfmws 4By~ F :
1 . eSO, ferer 3 amy ()
106 Aquaregia is a fres 2 s
S8 18 @ Ireghly prepared mixture of o] :
— Tespectively. concentrated HNO )
ma:x;,‘hu;wwau(-m _ 3 and concentrated HCI in the ratio o
a1 8 > =Rl ~ ﬁ = i
: ER: i -
Ay 2:1 wel e = y i[f%i!ll (SIE[IIEI)‘ El
Cy 3.9 " .
= . v
(E : ’ :
- ) Questipp notter drs B 3.4 L8 )"
A set of “':P'b?'ﬁls:p ple | ST ey D) 1.3 r={
s roce s
l? Software h.ﬂ.'? ceedures for accompligh,
‘” I Algorthy,
)

Eatask is known as
(.]I:Il:\liun not

v B) g .
T gy R?t:'la;cmp"‘-d ardware Progran,

(iv) Hp+Ip —_— HI

A Ui g b R (R ® Fimware Program =
PR LI E SIS o
: ‘:_'thq rj‘ T 5 [~
(E) 1 Fﬁqm ey
- A rf e sy -l (1) T v
T19) 4 () BIEA4T sy -—-.._r_ﬁ___J
P vy .
~
22

112




] of

108 Which of the following p

109 Which of the following

air is NOT correct about the keyboard keys?
(Choose the maost appropriate option from below)
(A) Command Key - Caps Lock

(B)  Punctuation Key - (;) Semicolon
(C) Navigation Key - Page Up (D) Control Key - Tab
(E)  Question not attempted
At e gt
(A) FHFE & - Caps Lock (B) mﬁ_ﬂ:{ﬁ - (1) Semicolon
(C) AFAH (e i - Page Up Dy HI i - Tab
(E) 3w wx

IS open command in MS office?
kﬁ!ﬁ%ﬁﬁﬁéﬁ@maﬁ&qﬁaﬁwmé‘?
) Curl+0

(B} Alt+0
(€) Shift+0

(D) Tab+0
(E)  Question not attempted / STqaRT g
110 ﬁqfr-rr“@aﬁf%ra’mmaﬁa?rnﬁwq?ﬁ%-
(A) & - o (B) TE-7g
LT 23T - Wy (D)  cFer - qayar
(E)  wfte wy
i ﬁtiﬁfﬁaaﬁﬂnﬂamamq:aﬁ%-
A) F= ﬁBT'"tﬁ
©) e (D)
(E) 3]37—[&-.—11;[34
1]

* When ajr in

between the plates of

4 capacitor is replaced by mica of dielectric constant 4, jis Capacity -
A)  reduces 1o 1.t (B)  becomes 4 times

() becomes 2 times (D)  remains unaffected

(E) Question not attempted

W%ﬁw¢m;ﬁmdmmﬁﬂaﬂwlqaﬁﬂm4 ?.ﬁﬂ?ﬁﬁmmﬂf HETE i eqpfey
(A) l;qarw ABT 4T B S

) 21 Er (D) smfafdq

5) st gy

Who 15 known a5 the father of the Indian space Programme?

:: Or. Homi Jehan gy Bhabha (B)  Dr. Satish Dhawan

. Dr. Vikram Sarabha; D) Dr.AP.J A bdul Kalan,

:_ Question noy attempred

'Ml Wﬂ%ﬁ?ﬁ'—ﬁ-mﬁw ¥ &1 fawm

"frrma—f-frh,m




Suratgarh and Ganganagar?

areas of Chury, Jhunjhunu, Hanu mangarh,

Nhich dialect is spaken in the

(Choose the most appropriate option from below:) :
A) Mewari : (B) Shekhawati
(A) ewarl \ - .
(C) Marwari (D) Malvi il
(E) Question not ai}l-: mpted _ :
2w e, T, T TS, GG AT T o i et et 22 (P H & waEE 30T foreea )
(A) HarEl By S
€y W N (D) ETEET
() SRR o :

ah Jilai Bai? :

5 What s the reasor for the popularity of All
(B) Kurja Singing

{A) Mand Singing
(C) Playing instrument (D) Dance

(E) Question not attempted

XY WiE TER (B) el A
(C) W3R A= (D) =M {FH)
(E) oA A
116 Who founded Kamac:_lla Panth?
(A) Mallinathji v (B) Harbuji
(C) Tejan
(E} Question no!_;irlcmplcd Pl I
Ftean g =i T e &0
(A) wfcermash - =
(C) s ' | LY TxaEl '

(E) ﬂ'—?{ﬁ'ﬂ Ve |
117 Which one of ]
the followin :
g ll'l.d],;m Pafﬂlvn -
ympian ha

(Choose the mos, S Won twi I .
st ippropriate opti 0 gold medals in the Paral 70247
ption from o4 ympics 20247

(A} Nishad Kumalﬁ R
iC . - 5
: ) Devendra Jhanjhana U T Kt
.. (..)l!t:slmn. nof attempted ()8 Matiah Nﬂr\\-’ai:ﬁ
Freafertian & & o g - »
B T R 3054 . o
sl 2024 7 21 w=qof e S 89 oy 5 it TaTE A T
) % gt (B) ity wafray Skt g i
(E)  #mfeg vy LEiL mmiq.
9| # e
24

[ P. T,U-

lzl

118

119

TR

129

e s e i i mm m m

oy B il = - -

Tlgl



{18 Match List-I with List-II
List-1 (Country)

a. Mauritius L
b. Seychelles il
c. Maldives iii.
d. Indonesia iv.
11 71 et 111 3 | it

it-1 (@) '
a e i
b. B i.
c. Hoed .
d  F=rfmE

Choose the most appropriate option from below:
e 5§ 7aR 307w faaed &1 =999 Fif

List-11 (Capital City)
Victoria

Jakarta

Port Louis

Male

qEt-Il @A R

-
S ™
Q'P_lg o
HIed pud

(A) a-ii, b-iv, c-i, d-iii By a-iii, b, c-iv, d-ii €N
€)  a-iv, biiii, c-ii, d-ic (D) a-i, b-ii, c-iii, d-iv S 4
(E)  Question not attempted | 34'{*?&?‘1"1‘51 .
1 119 Rajasthan State Allied and Health Care Council 1s constituted under -
{A) National Allied apd.Health Care Profession Commission Act - 2022 e
(B) National Allied agdjHealth Care Profession Commission Act - 202] !
(C) National Allied andyHealth Care Profession Commission Act - 2023
(D) National Allied andiHealth Care Profession Commission Act - 2020
(E) Question not attempted .
TS 22 S70TSE Uz Eedsrat 1St 1 TS (971 092 % aee far my 2.
(A) TS 3reTEE Uz Eeksat TR FHHIIE 1A - 2022
By T STEAEE UZ Fedehal AIhe HHIIH T2 - 202
() Jarrer ez vz FekEa SHYH FHTE T - 2023
D) Tt steTEz Uz Febrenat SIHY FHIIE URE - 2020 b
124 :[r-: S 5 ' 2
-.cc;:‘.“mim"“‘ of Indigyis planning to implemeat a new highway to] collcciticlm syst
(s Ology? (Choose the most appropriate option from belgy) i ystem based on which
) Near Field Communication (B) Glol ™
(c : ate ilobal Navigat: : -
[;! Radio Frequency Identification (D)  Barc Ay Hbm_mn Satellite System
=) st 0de Scanning
Llio s Question not attemigied & o
LR U Y e gty s YoIel 9 e e b
:F:q“;;aﬁmﬁmqiu 878 o e Ia“%ﬁmﬁmﬂ
) ez Faf . - )
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ke ”;.' I\n_? PRDO condfifled a successful test flight of the 1 (r;
z A April 20249 i S I“d'EC"wuﬁ Techn 1\- :
) ) Odisha ¥Y Cruise Missite (rTemy
t;:: Kamataka ¢ (B) Andhrg Pradesh
% 0"3:1}:1 no :m._-m'I ed (D) Rajasthan o
s %nlaﬂﬁazppﬁwimmwﬁm(” ~y
’) = CM) =1 Hpey
| P.T.O- . et - (B) ity %W&mm
9 At gy = D) Troreyry ~
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122 Todgarh Raoli Wildlife Sanctuary 1S located 10 ¢

(A) West Bengal (B) Chhattisgarh
f est Benge
ssam
(C) Rajasthan (D) Assan
(E) Question not attempted 5 1
Srzire Tae 4 E I 1 furd 2
(A) & = (B) ®BHETe
ey T (D) rad
(E) STwia 94
123 Who has been appointed as the New Chairperson of CBSE, in March 20247
(A) Rahul Singh (B) Vinay Kumar

(C) Subodh Kumar Singh (D) Navneel Sahgal
(E) Question not attempted

o 2024 #, Hi. 1. W $ 3 = a7oge o ua Ot feRe Fes ferar T
(o) UEd e (B) A

Mﬁ‘f"“‘?‘mm (D)

EECIn UG
(E) Simia 94

124 Who became the first Indian to win a match in a Masters 1000 Tournament on clay courts?
(A) Nitn Kirtane (B) Sumit Nagal
(C) Sagar Kashyap (D) Ramesh Krishnan
(E) Question not attempted
et (foedh i et 1000 e A=y S ATl WA WA I 82
(a) T s (B) HHq AnTd
~
AT W F (D) T FT
(E) 3FETE w4 ]
125 ‘P’isthe centre of Circ . _
: 11 he centre of Circle. A tangent is drawn which touches the circle at *‘M’. If £ BPM = 70°, then what
15 the measure (in degrees) of £ DMR 2 :
U o6 1 2 P 21 U T dis s 2 5 -
TR (3 8 A S A a1 M 9 £991 Tt 81 afs £ BPM = 70° 2, 7 £ DMR &1
g D
M "
(A) 60°
I_(-] 7150 {B) 70°
(E) Question n
5 Ol & - - a
. attempled / STafra gy ADT 55
6 1If cCosec B + co
1o =
iy M, then find the value of m2 _ |
v " TR
A= Cosec O + coth = m o m? - | mZ
e ——
j_m’" cos6 m2yy ™ T 31 1
(cy tan
(B) cosecH
(E) ‘)Ilt"ﬂlnn noL gy .
allempre L
T9] # Pled / Safiy gy (D) sin0
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i1 If J80 4 6+/5 =22.35, then what will be the value of 1\/: ++/1257 ‘
ufHM-bJ?-EZ.JS ﬂ,l_ﬂ}\l,_;.: V125 &1 919 |1 EMT? -
|

71788 (Bige- o

(C) 25.88

(D) 16
(E)  Question nidtattempted Hﬁ“ﬁﬂ Lk

128 What is the difference of Median and Mode for the given data?

nmmmmmmmmqwm?

90,94, 52, 68, 80, 94, 52, 65, 87, 90. 70. 52

(A} 25 (B) 27
€y 29 ,.[_B-r" 23
(E)

Question not attempted TR 951

X, P 3 3
W I —+= =1, thei}> + 13 — i
¥ X :
o 3 3
TS =t ], P9 1 15 9
¥y X
(A) 1 (B) .
(Cy 0 (D) 0
(€}  Question nat attempted / HTTRT w5
- Y The value I‘-————I —'——__l_‘l i
| what alue of |l‘1£r F\'i='4 72 log, 72 | =
[_1 | |
AR g3t T— #
: %372 " Tog 72 Tog, 72 | L5
(A) | {BJ 2
)y s (D) o

Question rig attempted / S 757

'WL SIVen figure,if PQ || RS, £ QPE=128° and Z PER=]4g0

+then 2 SRM 19 Equal 1o:
r;,rmqq_r; P[)|JR5 /QI:_—]'\Q"W Z PER

—HH*’.FEL:SRMWW?' '
|
(-
“ N
= . .
52 /"‘nl/‘ﬂh" ™
fl ‘”‘: '- 0
I N\ (D) gge

27




_ordinate axes is:

i + 6= cO
gle formed by a line 1x—~3y+6=0 and the € g
(B) 7 square units

rea of atnan
3 square units

4 square units _
10 square units (D)
uestion not attempted
‘,‘_\Q 3}'-"{1=ﬂ' £l ﬁ‘ﬁ%qﬁ ﬁ&ﬁ%mﬁﬁﬁwmw%
) amigEd By 1T
y 10T TR (D) 3§
y e T
ake the given st atement
‘hen decide which of the given conclusions
statements:
No paper is car.
All cars are marker.
Some markers are erasers.

< 10 be true even if they seem 10 be at variance from commonly known facts.
the given statements.

logically follows from

Conclusions:
1. Qome CATS are erasers is a possibility.
[I.  Some papers are markers.
(A) Only conclusion Tl follows. 3 -
\ (B) Both conclusions I and II fi
B Nt : - sions I and 11 follow.
either 1 nor 11 follows. (D) Only conclusion I follows.

lé'-q Question not attempted
e CeRat & U ) =y T &1, 36 TeT A= faw e et | gad
1

FTE FWT F AR B
o] T £
T R IR (0 B
e
. % I S (T8 T -
L gmm?:miwmﬁi
(A) 3% P 1 e

1:; qmmsﬁ;:ﬂnwmwmm Mﬁ'ﬁﬁﬁlﬂﬁna‘ﬁ‘im@m
mfm‘: (D) mml&i’i‘qﬁ? |
AT 8|

134 In a certain code, “he made pood
Oniey

Save some money” is w 18 wri
TIME . 4 Bwnt t
the E;J;,d: for *some™ nas ‘9876 . ten ag 1465
e At wE g e Biale
Eood Mone

.mwm\:wm o by
?ﬂ'ﬂfﬂf&q moncy ?ﬁ‘qgjﬁ‘ﬁ Y = .14\‘151:. &

", *he must b

S e ¥
o good’ is Writt
1S wrilten en as ‘9421°, ‘musl

2ood saye
grace’
asg ‘24873’ :
83", Which of the following 15

e e
,M'i FIE BT m?ﬂi. begi_‘]ud _ ‘he mugtbegm i
€ 9 Save grace’ @I ‘2483 od" Y 49421 * firag e 2.
(E : : %r@-r
) Question not attempyeq | (B) g 2l ‘some’ & it
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“Pivot Table" is a feature of which of the following software?
(A} Microsoft Word

(C) Microsoft Powerpoint

(E) Question not attempted
Foer 2 Py et o o ferder v 2 @7
(A) TSR T8

(C) HIEEHETR s

E) 3w 94

Which of the following is an Input device?

(A) Prnter

(C) Visual Display Unit

138

139

(E) Question not attempted
e & i #ft g feaea &
(A) fre

() fasere feast gfe

(E) SFafa 9

Which of the following command

(B) Microsolt Access

(D) Microsoft Excel

(B)

TEFRTHIE T

y.;f" HTEeh IETIE UART

(B)
(D)

A0
(D)

Mouse

Speaker

HT3H

TR F fneferiad § § w1 G FH1 ST s yfterar i faaedt #fte gu e smom?

(A)  Alt+ Page Up
(C) Tab+ Page Up
(E)  Question not attempted ﬁ‘_!,’ﬁ’ﬁ bk

ABY~ Cirl + Page Up

(D)

Choose the most appropriate option o fill in the blanks:

He looked at me with

A) x.a
O —"the, x
(E)

Question not attempted

horror when 1 explained that I was

(B)
(D)

Choose the most apprapriate option 19 fill in the blank:

Ineed 1o buy eggs but [ haven't got
{A) any, some
Ty

few, a little
(E)  Question not attempted
T -1 =gt -1 & gwfea A
A1 (377 7o)

a hmma_mﬂﬂ?

b, Fa{mm‘émg‘qi‘i%

(1 mm:aahaﬂ'r?

d i o iy e 0 AT R
9 o ferenit i 1 i 3T 27 A
":':’T.’Ti-lv,b-l‘c-lll.d-ll
a-JILb-Le-1lLd-1V

it 94

(B)

Ctrl + Shift + Page Up

double agent. (x
the, the

a,n

money to pay for them.
all, little

(D) some.
. me, any
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of Excel will take you to the previous sheet of the work book?
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144 Rakeshisson of Aman’s father’s sister. Sonu is son of Disha who is motheriof Gopal and Grandmother of

Aman. Aaray is father of Tanya and grandfather of Rakesh. Disha is wife of Aarav. How ;s Rakesh related to
Disha? o
b <3

(A) N (B) Nephew ot

(©) Colsin (D) Grandson o
jon not attempted ™
@mmﬁmmm\@m&mm?mmaﬁwaﬁmﬁmm I A F
mﬁm%mﬂttmﬁuﬁﬂﬁm%mmﬁmuwmh
(A) ST (TS (B) W= (Wefi) 7

lC) mﬁmﬁ BT T (1) o
145 From en options sclcct the bo =
’E P X that can be formed by tnldmg the sheem'ﬁown in fig (X).

™

ion not attempled /
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e
() v
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148 Which one of the following west flowing rivers has the largest caichment-area

(A)  Penyar () Sauariah
(C) Bharathappuzha (D) Mahi

’ (E) Question not attempted

i S ; S : S &y

. =IEd | | = =i afam £ 3 327 arsh -Tal =T H=H =T STeav-&3 a7
(A) UiEm (B) H=THdl
(C) Wz APy W
(E) 9wl usg

49 Mushroom rocks. shifting dunes and playas are features of which of the following regions of India?
(A) The Coastal Plains (B) The Indian Desert
(C)  The Peninsular Plateau (D)  The Island
(E}  Question not attempted
B IS, T S P S o e & Feefaa § # oy sy =y B IR
(A) wfgf=m --ﬂ‘!’i’ﬂq]‘z_a-rq' q UHeere
(C)  umEE R (D) g
E)  safaay
By .
ary huuum_._.] Peak is situated in which of the 111|In-.\1ng Tegions “Il}hln.',irnl)‘il_\i':'
LA) Arunachal Himalavas :
i (B) g L
i . limacha| and Uttarakhand Himalayas
L) I-.mhmulhrnulu_nm (D) Darie :
1|. _ 40eeling ang Sikkim Himalayas
) Question not altempted 4
o . - S
A faren T 3 frsfera A e iy 3 fogey 30
WY s Trmremy
(B) f?l‘rr;—r:' 8
) iy ey N ITEE ferrerg
IPTON & o (% Ay :
Iy 1
L I
3

. ) e -
Kolleru lake is situated in which of the following states of India
(a]d]= d v &

(B) Andhra Pradesh
(A) Ru].‘j\lihll‘l

. D) Odisha
(Cy Tamil Nadu {

(E)  Question not attempted

Frore Ziel W & eterad o | fod e o feua 22

A) T By ST
(A) T
(<) ;iiqu:l[‘;

(D) 3nfEem
(E) 3wt 94

[ BT.O,




